LSc’C‘}‘\WI g/ é P}

=
———

@V(J(y%l/lti/!7 fﬁ "?ck/ (,? “49 Q(Dem
Vs £1(x)

v 2 f o
| —_— (/[a.\{\ c q“ O Z\GL{/G’ SDVI/{PVL(?/“?} j//{’e .

2
X ’f'-]tg/_xz_;_/:o

. e ‘ ‘
jhee Bt A ay Ja oxp reSs
ety ), e oF X,

fh '3 [ <X “ l““"l/p //(( fﬁé E?’@q}z;/}%
¥ ]’\ \"j et Sa g ,‘/)/ é@ vz c:t.c}Q city ORP }frC/ Z<

@?gaqﬁoq ;

FOX™ 1) = X

e T

WLI& 7L (7‘f‘/ W‘@ l{/l e ¢ g 9'}.7’7(’-%41‘!" 7 i =
complicated] =
}/Q“}’Z*V%ZKlX:f |
LLC{/L) -]._, ‘ ann oAU ED/'QD//{(% @?0 QDL//:?@



s

bt A WG fo e [he

dQ/c'i/a‘f /e ,?

;( M pJfC r,\7[ 0’ i; VC'{GK(‘W 7(;&'7&/ 17 4]
453 |
O)\r-(a_-p@fpmi(,rqfe Lﬂﬁ g'/rcj@f [’}akﬁ %‘/)
[ ] c)?( [\XJ
Qu -.— /’Maw 7['@6‘?&
%[{ﬂx))/] = e [{7

3 ( ,(’(k)) £ =

Ly 28 e

X
ol
Solve bo dyy
vy . L
J X 2¥
feps |
D Jifferent afe  Loth  s)es
S

2) Sg lve £ d%X

[pL

y- f()f// j -

with cespect s



fad dyd}( 2 }/3“ y t ZX'Z'— X=F /’?3

@ g‘[‘ﬁxhsz )j:%w]
£[¥7~ g7 L[ ]-Sh] =0
- 109
ad;[(f@)y - ﬁ[(f@j 4 Bf =] wo
3({@)1%’/@ -l 4 (x5 =1=0

3}5""%;-- _(d;’_f _-6x*
, = 2

(;7/ ”D 97 - = = BX”

g, e
3=

[ S S S




-

O‘) (l{\nd @ ‘V/f))(
)> rﬂm) g JojD e fo "(Z(w? i 47[ 1;1«1 @ o) 0(\ (}/ ]/_9_)

—

J pa i _
uk) 5}5[)( +Y 7 E-X[ij
J 2% - —
X5 r(=0
v _
92X + 2‘{’;“ S
v JdY
< | K X
¥ 2K =X
K 24 o
B , |
gK %\.(';»’?) (1,v7) z) - 2

/

proaas : ebvalate  The -

(_) O L‘/cxl {
) 6)%7)' at  Jhe pw%s{—
(¢) b) (', ['))




mio

¢ = c)(rﬁlCU/ICe fave <> /30/7L

I}/ s O)trSFc’—U/l(Q Sh"fj > fba/VL

),,[4_;}) € = JJI}CM(@ /Wu‘[p o
4 2

Porf X faafie,

Zixyt
Lo dlnf e Sk (] () &

—

) %3
4[?,2] %—[X‘% r’)

ﬂ’f - e Jt
Iz Ly 5 g o
J¥ It Jt

2% Bo) +({0)" = 2500 2-850

50 5 = (39020 + ()00 > 22236






